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Examiner tips


Advice from the examiner on key points in the text to help you learn and recall unit content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summary





• Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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About this book



This book has been written to prepare students for Unit 3 of Edexcel’s A-level (A2) GCE examinations in economics, a paper entitled Business Economics and Economic Efficiency 6EC03. It provides an overview of the knowledge and skills required to achieve a high grade in the examination. The aim of the unit is to consider the role that firms play in the economy, their size, how they behave and what actions the government may take to regulate them.


Unit 3 is based on the theory of the firm, which you will find outlined in every microeconomics textbook and which considers costs and revenues, market structures and the way in which firms behave. It is based on principles such as the law of diminishing returns and the principles that govern demand, which are used to derive diagrams for both the short run (when at least one factor is fixed) and the long run, when all factors are variable. The aim of this guide is to help you become comfortable with manipulating the diagrams that you will be confronting in the exam.


In the Content Guidance section of this book, the theoretical content has been divided up into five main topics.





(1) Firms. We look at reasons why firms may want to grow, and how they grow. We consider the advantages of growth and then why some very successful firms remain small, and why there is often a trend for firms to break up into smaller parts.



(2) Costs and revenues. Using the concepts of the law of diminishing returns and economies of scale, we can derive the short- and long-run cost curves. Using our understanding of price elasticity of demand, we can derive demand curves.



(3) Motives of the firm. Initially we assume all firms aim to maximise profits and we deduce a simple formula to illustrate this: MC = MR. We then consider whether all firms will always want to achieve this short-run goal, which brings in dangers of new competitors or attracts the attention of the competition authorities. It is also a position that only considers short-term conditions, and it might be better to increase output or market share to guarantee long-run profits.



(4) Theory of the firm. Here we consider the nature of competition in the market — how many buyers and sellers there are, and the degree of market power each firm has. The extremes of competition range from perfect competition to monopoly. We also look at market power from the point of view of the buyer rather than that of the seller, a theory called monopsony.



(5) Government intervention to maintain competition in markets. We consider here why and how the government intervenes in markets, and how successful the government is in trying to regulate the behaviour of markets where markets on their own fail to produce optimum outcomes.





The Content Guidance section is focused on essential information you need. It is not a substitute for your class notes but a support, and should be used alongside what you have done in class.





Content guidance


Firms


A firm is a production unit. It transforms resources into goods and services. ‘Industry’ is the term used to describe a collection of firms operating in the same production process. Firms aim to make profit and if they do not, they go out of business (unless they are state supported or have some other form of finance). If firms aim to make profit and can make more profit by growing, then firms will tend to grow.
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Knowledge check 1


What is a firm?


Knowledge check 2


What is the difference between a firm and an industry?
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How do firms grow?


Firms can grow by expanding the scale of their operations and gaining market share. This is known as internal or organic growth. They can also grow through takeovers (inorganic growth), of which there are a number of different types.
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Examiner tip


Internal growth is when a firm grows by investing in its own current operations, or by extending its range of operation under the current system of operation. External growth is when a firm grows by joining with other firms, usually by a merger or takeover.
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Horizontal integration


This is a merger between two firms at the same stage of production, for example the banks Lloyds TSB and Halifax Bank of Scotland (HBOS) in January 2009 or Orange and T-Mobile (mobile phone operators) in September 2009. The reason for this kind of integration is often to achieve economies of scale, or to increase market share.



Vertical integration


This is a merger between firms at different stages of the productive process within an industry. The reason for this kind of integration is to increase barriers to entry, increase control over suppliers or markets, or to ensure a smooth production process.


This can be further distinguished as:




•  Forward vertical: at the next stage of the production process, e.g. American Apparel, which designs, manufactures and sells its products, buying design, manufacture and retail components.


•  Backward vertical: at the previous stage of the production process, e.g. RIL, an Indian petrol producer, buying an oil-extraction firm.
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Knowledge check 3


A train-operating company buys a media firm. What kind of integration is this?
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Conglomerate integration


This is a merger between firms in entirely unrelated industries. The aim is often to achieve a greater spread of risk, widening the range of output to reduce exposure to any one market. It allows firms to use funds to cross-subsidise investment in new areas, taking the chance to innovate without losing its revenue drivers. The pioneer of conglomerate integration in the UK has been Richard Branson at Virgin, renowned for diverse investment and entrepreneurship.
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Examiner tip


When asked about types of integration, note that on a 4-mark question, 2 of the marks will be assigned to application. Use the context provided for the firms involved to explain the answer.
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Why do firms grow?



Firms grow for a variety of reasons. They may decide to grow larger to:




•  increase market share and hopefully become the dominant firm in a particular industry. This may allow them to increase their profits or ensure that they are in a stronger position to dominate the market, or set prices to their benefit.


•  benefit from greater profits. A firm aims to maximise profits and may be able to achieve this through expansion, either by increasing its sales, setting price or benefiting from lower costs of production.


•  increase sales, through larger brand recognition and more sales outlets. These could be in the same country or even allow a firm to gain a presence abroad very quickly, with an already established brand name.


•  increase economies of scale. The firm is able to exploit its increased size and to lower long-run average cost (LRAC). Furthermore, by driving down LRAC and approaching the minimum point on the LRAC curve, the firm is moving closer to productive efficiency.


•  gain power so as to prevent potential takeovers by larger predator businesses, also allowing them to survive any major downturn in economic performance. For example, during the recession of 2009, a number of firms merged to ensure their long-term survival despite falling sales.


•  satisfy managerial ambitions. Some managers will seek to grow their business so that they can satisfy their desire to run a successful business, see share prices rise if they receive shares as part of their remuneration, or to leave a legacy of growth and acquisition after they have left.


•  make the most of an opportunity. Some firms will have revenues that they do not want to class as ‘profit’ (subject to corporation tax) and so will use them to acquire another business.


•  gain expertise. Some firms may wish to develop a new part of their business and, rather than trying to establish themselves slowly, feel that they can buy an existing market leader and with it its experience in the market.
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Examiner tip


Look in the business section of any quality newspaper and find an example of a growing firm. Ask yourself if any of the reasons given here explain why the firm has grown large. Be prepared to repeat this process in an exam.
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Knowledge check 4


Is a large firm one that makes a high level of profit, one that makes a high level of sales or one that has a large number of employees?
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Why do some firms remain small?


While there are clear advantages to be gained from growth, it is obvious that some firms remain small for a number of reasons.


Barriers to entry


Barriers to entry or exit of an industry are obstacles that ensure the continued existence of monopoly power of firms in a market.


Legal barriers


The government itself may prevent the entry or growth of a firm. Acts of parliament can allow monopolies to be formed and protected, such as the provision of National Lottery. The former nationalised utilities, such as water, rail and electricity, were monopolies formed and protected by acts of parliament. Patents will also give firms legal protection to ensure that ideas or processes are protected from competition for the life of the patent. This is important in pharmaceuticals and high-tech industries where much money is invested in research and development, which will only be rewarded over time. Other industries require licences or specific qualifications before a firm or individual can operate. For example, law and accountancy firms have to be approved by their respective trade bodies, and radio stations have to obtain a licence before they can broadcast.


Marketing barriers


Marketing barriers are those imposed by businesses currently operating in an industry. This could be through branding or a new advertising campaign to re-establish brand recognition. The investment in marketing cannot be recouped if the campaign fails — this is known as sunk costs. For example, Coca-Cola spent millions in trying to bring its purified water ‘Dasani’ to the UK market, but it failed to take off after negative publicity. Most companies do not have the ability to take such a risk.
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Examiner tip


A contestable market is one which has low or no barriers to entry or exit. Markets that are not contestable will have high sunk costs such as advertising, the cost of which a firm may not recover once it has been spent.
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Pricing barriers


Firms already in the market may try to prevent new firms entering in two very distinct ways. See the section on pricing strategies on page 18.


Technical barriers


Often, a few large firms dominate an industry thanks to their size. They use existing technical expertise and economies of scale to ensure that they operate at the lowest possible average cost, and new firms entering the industry will find it impossible to compete because their average cost will be so much higher at a smaller scale. To be able to compete, the firm would have to operate on a similar scale to the existing firm, which may result in supply increasing quite significantly and with it a lowering of price, eroding any potential profits to be made.



Niche-market businesses


If a firm serves a niche market that will not support expansion, there is little scope for growth. For instance, manufacturers of cricket bats or a local grocery store have expanded as far as their market will allow. In these cases, it may be true that the firm has a local monopoly and any further expansion will put this at risk. Some small firms may survive on the basis that they are able to provide a personal service that customers prefer, and would lose some of their loyal customers if they were to expand.
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Knowledge check 5


What is a niche market?
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Lack of resources


The owner of the firm may lack the knowledge, expertise or funds to expand. As it expands and employs more people, it may have to undertake a greater level of bureaucracy such as completing national insurance returns or having to comply with greater levels of financial regulation, all of which will either add to its costs or be beyond the managers’ level of expertise.


Minimum efficient scale


In some cases a firm has already exploited economies of scale and is operating at the most productively efficient point, that is, the optimum efficiency has been achieved. Any further increase would result in inefficiencies and in an increase in average cost, in other words the firm would experience diseconomies of scale. Take, for example, the case of a family-run restaurant. Any expansion, such as opening another restaurant, may require the hiring of a manager and the training of a chef. The loss of personal managerial control may result in increased costs and eventually losses.


Lack of motivation


Expansion may result in increased rewards but perhaps the opportunity cost in terms of lost leisure may be too much for a sole trader, and therefore the firm remains small; in other words it lacks the motivation to expand. This is an example of satisficing, where a firm makes just enough profit to stay in business and then allows other motives to take precedence. Some managers may not be willing to undertake the risks that are necessary to expand a business, instead seeking to avoid such expansion. Behavioural economists might try to explain such risk-averse behaviour, but it could come down to something as simple as wishing to avoid taking risks with the family finances, mortgage or savings.
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Examiner tip


Satisficing behaviour is when a firm aims to make a minimum accepted level of profit and then pursues other aims.
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Avoiding attention from potential buyers


The growth of the firm and its increased profits may result in unwanted overtures from larger firms wishing to buy out the sole trader. It is therefore an advantage to remain small and avoid attention.


Tax thresholds and other benefits of remaining small


Small firms are able to access additional training grants and government financial support. For example, firms with profits of less than £10000 are not liable for corporation tax and firms with turnover of less than £73000 are not liable for VAT in the UK. Since 2009, the government has supported small firms with a turnover of up to £25 million through the Enterprise Finance Guarantee, which allows smaller firms to access bank loans of between £1000 and £1 million, where the government guarantees 75% of the risk of firms being unable to pay back the loan.
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Examiner tip


Ensure you know arguments for firms to remain small, which can be used as evaluation when explaining a question about growth of firms.
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Knowledge check 6


Is it shareholders or managers who care most about the size of the firm?
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Why do some firms break up?


Some firms may grow too large and experience diseconomies of scale. As a result of the growth of output, the business and managers may lose focus and control over day-to-day management of the firm and therefore long-run average costs increase. To avoid this, or to reduce the impact of diseconomies of scale, a firm may decide to break up — in other words, to demerge. This may then create a number of smaller firms, all able to concentrate on their specialist area and maximise their own economies of scale and, with that, increase shareholder value and profits.
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Examiner tip


Make sure that you know of at least one example of a recent demerger to use as case study material.
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Summary




•  It is important to know why some firms will grow and to be able to discuss the advantages of growth. We have looked at how firms grow, either by joining with another firm as a merger in the forms vertical, horizontal or conglomerate, or by internal growth such as investment in the business itself.


•  Likewise you must know why some firms remain small: perhaps because there are barriers to entry to a variety of industries, a lack of economies of scale, or competitive advantages in staying small (perhaps because the firm reacts more quickly to change), or because they have a better relationship with customers than larger firms do. We have also considered why some firms may decide to become smaller through the process of demerger — the advantages of a small but focused firm are set against those of a firm enjoying economies of scale and market power.
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Costs and revenues



The short and long run


Before we can draw a cost curve, we must determine which time period we are considering:




•  Short run. This can be defined as a time period in which at least one factor of production (land, labour, capital or entrepreneurship) is fixed — it cannot be changed even if there is a change in demand. The length of time that this represents will vary for different firms. For example, a pizza delivery firm could probably double in size within a matter of days, but an oil exploration firm might take 20 years, because of the geological research and legal costs involved. The explanation of short-run costs is the law of diminishing returns.


•  Long run. This is defined as a time period in which all the factors of production are variable. The explanation of long-run costs is economies and diseconomies of scale.





Costs


There are two types of cost:




•  Fixed costs. These costs do not change with output. Fixed costs can only apply when at least one factor of production (land, labour, capital and entrepreneurship) is fixed. This will only be the case in the short run. For example, an out-of-town supermarket has a fixed supply of available land in the short term. In the future, the supermarket may be able to buy more land adjacent to the site, showing that in the long run, all factors of production are variable. They are also known as overheads.


•  Variable costs. These costs do change with output and can occur both in the short run and long run. An example may be a firm’s raw material costs, which will increase as the firm produces more products. If a car producer makes more cars, it will use more steel.





Taken together, total fixed costs and total variable costs are known as total costs.



Average costs


Average fixed cost


Average fixed cost (AFC) is calculated as follows:
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For example, if a firm’s fixed costs are £1000 and output is 100, AFC is calculated as follows:
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As output increases, AFC will always continue to fall, because the fixed cost is being spread across a greater output.
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Examiner tip


AFC is an ‘always falling curve’, that is, average fixed costs can never rise.
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Average variable cost



Average variable cost (AVC) is calculated as follows:
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For example, if a firm’s total variable cost is £5000 and it produces 100 units, AVC is calculated as follows:
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The average total cost (usually abbreviated to AC) is equal to the AFC + AVC, which in this case is £10 + £50 = £60 at an output of 100.


Marginal cost


Marginal cost (MC) is the change in total cost when one additional unit of output is produced. It is the gradient of the total cost curve, ΔTC/ΔQ — the change in total cost divided by a one unit change in output.






	Output

	Total cost

	Marginal cost






	0

	£100

	—






	1

	£119

	£19






	2

	£135

	£16







As output increases from 0 to 1, the total cost rises by £19. This is the marginal cost.
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Examiner tip


You can abbreviate marginal cost as ΔTC/ΔQ, but never forget the ΔQ part. Many miss out the ‘change in’ sign in the denominator.
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